

<http://ansinet.com/itj>

ITJ

ISSN 1812-5638

INFORMATION TECHNOLOGY JOURNAL

ANSI*net*

Asian Network for Scientific Information
308 Lasani Town, Sargodha Road, Faisalabad - Pakistan

T_H -interval-valued Fuzzy Rings and Their Homomorphism Properties

Caihui Liu

Department of Mathematics and Computer Science, Gannan Normal University,
 Ganzhou, 341000, China

Abstract: In this study, the concept of T_H -interval-valued fuzzy ring is first introduced based on the notion of fuzzy ring, then some meaningful properties of T_H -interval-valued fuzzy ring are investigated. The results show that fuzzy ring and interval-valued fuzzy ring are special cases of T_H -interval-valued fuzzy ring.

Key words: Interval-valued fuzzy set, T_H -interval-valued fuzzy ring, homomorphism

INTRODUCTION

The research on interval-valued fuzzy set has attracted many authors' attention. For example, Biswas (1994) first introduced the concept of interval-valued fuzzy set to discuss fuzzy algebra and studied interval-valued fuzzy group. Sun and Gu (1998) investigated the properties of fuzzy algebra based on interval-valued fuzzy set. Wang and Zhou (1997) and Li and Wang (2000) proposed the concept of T_H -interval-valued fuzzy group and S_H -interval-valued fuzzy group and studied their properties.

In this study, we first introduce the concept of T_H -interval-valued fuzzy ring. Then, the corresponding properties of T_H -interval-valued fuzzy ring are studied. Through the remarks below, one would find that the results of this study are an interesting and meaningful extension of fuzzy ring and interval-valued fuzzy ring.

PRELIMINARIES

Here, some basic notions and notations of fuzzy set are reviewed, the detailed descriptions could be found by Zadeh (1965), Meng (1993) and Kumar *et al.* (1992).

Definition 1: Let X be a crisp set. The mapping $A: X \rightarrow [I]$ is called an interval-valued fuzzy set based on X . We denote by (X) the set of all the fuzzy set on X . For any $A \in IF(X)$, if we define that $A(X) = [A(x), A^+(x)]$, $A^-(x) \leq A^+(x)$, $x \in X$, then $A^-: X \rightarrow I$ and $A^+: X \rightarrow I$ are called the lower fuzzy set and the upper fuzzy set of X , respectively.

For any $x \in X$, $A, B \in IF(X)$, one can define that $(A \cup B)(x) = A(x) \vee B(x)$, $(A \cap B)(x) = A(x) \wedge B(x)$.

For any $A \in IF(X)$, $[\lambda_1, \lambda_2]$, we have that $A_{[\lambda_1, \lambda_2]} = \{x \in X | A^-(x) \geq \lambda_1, A^+(x) \leq \lambda_2\}$, $A_{[\lambda_1, \lambda_2]}$ is called the $[\lambda_1, \lambda_2]$ -cut sets of A . Obviously, we have that $A_{[\lambda_1, \lambda_2]} = A^- \wedge \lambda_1 \cap A^+ \wedge \lambda_2$, $A_{[0, 0]} = X$.

For any $A, B \in IF(X)$ and $[\lambda_1, \lambda_2] \in [I]$, the following two equations are satisfied:

$$\begin{aligned} (A \cup B)_{[\lambda_1, \lambda_2]} &= A_{[\lambda_1, \lambda_2]} \cup B_{[\lambda_1, \lambda_2]} \cup (A_{\lambda_1}^- \cap B_{\lambda_2}^+) \\ &\quad \cup (A_{\lambda_1}^- \cap B_{\lambda_2}^+) \\ (A \cap B)_{[\lambda_1, \lambda_2]} &= A_{[\lambda_1, \lambda_2]} \cap B_{[\lambda_1, \lambda_2]} \end{aligned}$$

Definition 2: A mapping $T: I \times I \rightarrow I$ is said to be an idempotent norm, if the following conditions satisfy, where $a, b, c, d \in I$:

- (1) If $a \leq c, b \leq d$ then $T(a, b) \leq T(c, d)$
- (2) $T(a, b) = T(b, a)$
- (3) $T(T(a, b), c) = T(a, T(b, c))$
- (4) $T(a, 0) = 0, T(a, 1) = a$
- (5) $T(a, a) = a$

Proposition 1: If T is an idempotent norm, then for any $a, b, c, d \in I$ we have:

$$T(a, b) \wedge T(c, d) \geq T(a \wedge c, b \wedge d)$$

Proof: Noting that $a \geq a \wedge c, b \geq b \wedge d$ according to (1) in Definition 2, $T(a, b) \geq T(a \wedge c, b \wedge d)$ is satisfied; Analogically, $T(c, d) \geq T(a \wedge c, b \wedge d)$; Thus, $T(a, b) \geq T(a \wedge c, b \wedge d)$.

Definition 3: A mapping $T_H: [I] \times [I] \rightarrow [I]$ is said to be an idempotent interval norm, if for any $\bar{a}, \bar{b} \in [I]$, $T_H = [T(a^-, b^-), T(a^+, b^+)]$ is satisfied, where T is an idempotent norm.

Proposition 2: For any $\bar{a}, \bar{b}, \bar{c}, \bar{d} \in [I]$, if $\bar{a} \leq \bar{b}, \bar{c} \leq \bar{d}$, then $T_H(\bar{a} \leq \bar{b}), T_H(\bar{c} \leq \bar{d})$.

Proof: If $\bar{a} \leq \bar{b}, \bar{c} \leq \bar{d}$ then we have that $a^- \leq c^-, a^+ \leq c^+, b^- \leq d^-, b^+ \leq d^+$. According to Definition 2, $T(a^-, b^-) \leq T(c^-, d^-)$ and $T(a^+, b^+) \leq T(c^+, d^+)$. Therefore:

$$[T(a^-, b^-), T(a^+, b^+)] \leq [T(c^-, d^-), T(c^+, d^+)]$$

Thus, we have that $T_H(\bar{a} \leq \bar{b}), T_H(\bar{c} \leq \bar{d})$.

Proposition 3: For any $\bar{a}, \bar{b}, \bar{c}, \bar{d} \in [I]$ we have that $T_H(\bar{a} \leq \bar{b}) \wedge T_H(\bar{c} \leq \bar{d}) \geq T_H(\bar{a} \wedge \bar{b}, \bar{c} \wedge \bar{d})$.

Proof: Noting that $\bar{a} \geq \bar{a} \wedge \bar{c}, \bar{b} \geq \bar{b} \wedge \bar{d}$, according to Proposition 2, $T_H(\bar{a} \leq \bar{b}) \wedge T_H(\bar{c} \leq \bar{d}) \geq T_H(\bar{a} \wedge \bar{b}, \bar{c} \wedge \bar{d})$ is satisfied. Analogically, $T_H(\bar{c}, \bar{d}) \wedge T_H(\bar{a} \leq \bar{b}) \geq T_H(\bar{a} \wedge \bar{b}, \bar{c} \wedge \bar{d})$; Therefore, $T_H(\bar{a} \leq \bar{b}) \wedge T_H(\bar{c} \leq \bar{d}) \geq T_H(\bar{a} \wedge \bar{b}, \bar{c} \wedge \bar{d})$. From Proposition 3, we can conclude that for any $\bar{a} \in [I], T_H(\bar{a}, \bar{a}) = \bar{a}, T_H(\bar{a}, I) = \bar{a}, T_H(\bar{a}, \bar{0}) = \bar{0}$.

T_H -INTERVAL-VALUED FUZZY RING

Here, we shall introduce the concept of T_H -Interval-valued fuzzy ring based on the concept of fuzzy j ring.

Definition 4: Let R be a ring and A is a fuzzy set on R . A is said to be a fuzzy subring of R , if the following two conditions are satisfied.

- (1) For any $a, b \in R, A(a+b) \geq A(a) \wedge A(b), A(ab) \geq A(a) \wedge A(b)$
- (2) For any $a \in R, A(-a) \geq A(a)$

Definition 5: Let R be a ring and T_H an idempotent interval norm. For any $A \in IF(X)$, if the following two conditions are satisfied, then A is said to be a T_H -interval-valued fuzzy ring of R :

- (1) For any $x, y \in R, A(x+y) \geq T_H(A(x), A(y))$
 $A(xy) \geq T_H(A(x), A(y))$
- (2) For any $x \in R, A(-x) \geq A(x)$

Theorem 1: Let R be a ring and A an interval-valued fuzzy set of R . Then A^- and A^+ are T -type fuzzy ring of R if and only if A is a T_H -interval-valued fuzzy ring of R .

Proof: If A is a T_H -interval-valued fuzzy ring of R , then, according to Definition 5, for any $x, y \in R$, we have $A(xy) \geq T_H(A(x), A(y))$ that is to say, $[A^-(x+y), A^+(x+y)] \geq T_H([A^-(x), A^+(x)], [A^-(y), A^+(y)]) = [T(A^-(x), A^-(y)), T(A^+(x), A^+(y))]$.

Then, we have that $A^-(x+y) \geq T(A^-(x), A^-(y)), A^+(x+y) \geq T(A^+(x), A^+(y))$. Thus, A^- and A^+ are T -type fuzzy ring of R . On the contrary, if $A(xy) \geq T_H(A(x), A(y))$ then, we have $A^-(xy) \geq T(A^-(x), A^-(y))$ and $A^+(xy) \geq T(A^+(x), A^+(y))$; if $A(-x) \geq A(x)$ then, we have that $A^-(-x) \geq A^-(x)$ and $A^+(-x) \geq A^+(x)$. Thus, A is a T_H -interval-valued fuzzy ring of R .

Theorem 2: Let R be a ring. If A_1 and A_2 are two interval-valued fuzzy rings of R , then $A_1 \cap A_2$ is a T_H interval-valued fuzzy ring of R .

Proof:

- For any $a, b \in R$, we have that: $(A_1 \cap A_2)(a+b) = A_1(a+b) \wedge A_2(a+b)$:

$$\begin{aligned} &\geq T_H(A_1(a), A_1(b)) \wedge T_H(A_2(a), A_2(b)) \\ &\geq T_H(A_1(a), A_2(a), A_1(b), A_2(b)) \\ &= T_H((A_1 \cap A_2)(a), (A_1 \cap A_2)(b)) \end{aligned}$$

and $(A_1 \cap A_2)(ab) = A_1(ab) \wedge A_2(ab)$:

$$\begin{aligned} &\geq T_H(A_1(a), A_1(b)) \wedge T_H(A_2(a), A_2(b)) \\ &\geq T_H(A_1(a), A_2(a), A_1(b), A_2(b)) \\ &= T_H((A_1 \cap A_2)(a), (A_1 \cap A_2)(b)) \end{aligned}$$

- For any $a \in R$, we have that:

$$(A_1 \cap A_2)(-a) = A_1(-a) \wedge A_2(-a) \geq A_1(a) \wedge A_2(a) = (A_1 \cap A_2)(a)$$

Thus, according to Definition 5, $A_1 \cap A_2$ is a T_H interval-valued fuzzy ring of R .

HOMOMORPHISM PROPERTIES

Here, we will discuss the homomorphism properties about the T_H interval-valued fuzzy ring.

Definition 6: Let R_1 and R_2 be two rings and a mapping φ between R_1 and R_2 is given as $\varphi: R_1 \rightarrow R_2$. Suppose $\hat{\varphi}, \hat{\varphi}^{-1}$ are two mappings between $IF(R_1)$ and $IF(R_2)$, they are given as $\hat{\varphi}: IF(R_1) \rightarrow IF(R_2)$ and $\hat{\varphi}^{-1}: IF(R_1) \rightarrow IF(R_2)$, we denote:

$$\hat{\varphi}(A)(y) = \begin{cases} \sup_{x \in \hat{\varphi}^{-1}(y)} A(x), & \hat{\varphi}^{-1}(y) \neq \emptyset, \\ [0, 0], & \hat{\varphi}^{-1}(y) = \emptyset, \end{cases} \quad y \in R$$

$$\hat{\varphi}^{-1}(B)(x) = B(\varphi(x)), \quad \forall x \in R_1$$

where, $A \in IF(R_1), B \in IF(R_2), \hat{\varphi}^{-1}(y) = \{x \in R_1 | \varphi(x) = y\}$ Then $\hat{\varphi}$ and $\hat{\varphi}^{-1}$ are respectively said to be interval-valued fuzzy transformation and interval-valued fuzzy inverse transformation generated by φ . From Definition 5, we can easily get the following two equations:

$$\begin{aligned} \hat{\varphi}(A)(y) &= \left[\bigvee_{x \in \hat{\varphi}^{-1}(y)} A^-(x), \bigvee_{x \in \hat{\varphi}^{-1}(y)} A^+(x) \right] \\ &= \left[\hat{\varphi}(A^-)(y), \hat{\varphi}(A^+)(y) \right], \text{ for any } y \in R_2 \end{aligned}$$

$$\hat{\varphi}^{-1}(B)(x) = [B^-(\varphi(x)), B^+(\varphi(x))] \\ = \left[\hat{\varphi}^{-1}(B^-)(x), \hat{\varphi}^{-1}(B^+)(x) \right], \text{ for any } x \in R_1$$

$$A_2(y_1 + y_2) = \hat{\varphi}(A_1)(y_1 + y_2) \\ \geq T_H(\hat{\varphi}(A_1)(y_1), \hat{\varphi}(A_1)(y_2)) \\ = T_H(A_2(y_1), A_2(y_2))$$

Theorem 3: Let R_1 and R_2 be two rings, $\varphi: R_1 \rightarrow R_2$ a homomorphism mapping from R_1 to R_2 and $\hat{\varphi}$ interval-valued fuzzy transformation generated by φ . If A_1 is a T_H -interval-valued fuzzy ring of R_1 , $A_2 = \hat{\varphi}(A_1)$, then A_2 is a T_H -interval-valued fuzzy ring of R_2 .

Proof:

- Firstly, if for any $y \in R_1$, there is $\varphi^{-1}(y) = \phi$, then we can conclude that $\varphi^{-1}(-y) = \phi$. In fact, if there exists $x_0 \in \varphi^{-1}(-y)$, then there must have $\varphi(x_0) = -y$. Since φ is a homomorphism mapping, we have that $\varphi(-x_0) = -\varphi(x_0) = y$. Consequently, $-x_0 \in \varphi^{-1}(y)$. This is contradicted with hypotheses. By Definition 4.1, it follows that:

$$A_2(-y) = \hat{\varphi}(A_1)(-y) = [0, 0] = \hat{\varphi}(A_1)(y) = A_2(y)$$

Secondly, if $\varphi^{-1}(-y) \neq \phi$, we have that:

$$A_2(-y) = \hat{\varphi}(A_1)(-y) = \bigvee_{x \in \varphi^{-1}(-y)} A_1(x) \\ = \bigvee_{\varphi(x) = -y} A_1(x) = \bigvee_{\varphi(-x) = y} A_1(-x) \\ \geq \bigvee_{-x \in \varphi^{-1}(y)} A_1(-x) = \bigvee_{z \in \varphi^{-1}(y)} A_1(z) \\ = \hat{\varphi}(A_1)(y) = A_1(y)$$

- Suppose $\varphi: R_1 \rightarrow R_2$ be an epimorphism mapping. If there exist $y_1, y_2 \in R_2$ such that:

$$A_2(y_1 + y_2) = \hat{\varphi}(A_1)(y_1 + y_2) \\ < T_H(\hat{\varphi}(A_1)(y_1), \hat{\varphi}(A_1)(y_2)) \\ = T_H(A_2(y_1), A_2(y_2))$$

Thus, we can conclude that there exist $x_1, x_2 \in R_1$ satisfying $\varphi(x_1) = y_1, \varphi(x_2) = y_2$ and $A_2(y_1 + y_2)$:

$$= \hat{\varphi}(A_1)(y_1 + y_2) < T_H(A_1(x_1), A_1(x_2))$$

Noting that φ is an epimorphism mapping, then we have that $\varphi(x_1 + x_2) = \varphi(x_1) + \varphi(x_2) = y_1 + y_2$ such that:

$$A_2(y_1 + y_2) = \hat{\varphi}(A_1)(y_1 + y_2) = \bigvee_{\varphi(z) = y_1 + y_2} A_1(z) \geq A_1(x_1 + x_2)$$

Hence, $A_1(x_2 + x_1) < T_H(A_1(x_1), A_1(x_2))$.

This is contradicted with the fact that A_1 is a T_H -interval-valued fuzzy ring of R_1 . Therefore, for all $y_1, y_2 \in R_2$ we have:

- If there exist $y_1, y_2 \in R_2$ such that:

$$A_2(y_1 y_2) = \hat{\varphi}(A_1)(y_1 y_2) \\ < T_H(\hat{\varphi}(A_1)(y_1), \hat{\varphi}(A_1)(y_2)) \\ = T_H(A_2(y_1), A_2(y_2))$$

then, we can obtain that there exist $x_1, x_2 \in R_1$ satisfying $\varphi(x_1) = y_1, \varphi(x_2) = y_2$ and:

$$A_2(y_1 y_2) = \hat{\varphi}(A_1)(y_1 y_2) < T_H(\hat{\varphi}(A_1)(y_1), \hat{\varphi}(A_1)(y_2)) \\ = T_H(A_1(x_1), A_1(x_2))$$

Noting that φ is an epimorphism mapping, then we have $\varphi(x_1 x_2) = \varphi(x_1) \varphi(x_2) = y_1 y_2$ such that:

$$A_2(y_1 y_2) = \hat{\varphi}(A_1)(y_1 y_2) = \bigvee_{\varphi(z) = y_1 y_2} A_1(z) \geq A_1(x_1 x_2)$$

Consequently, $A_1(x_2 + x_1) < T_H(A_1(x_1), A_1(x_2))$.

This is contradicted with the fact that A_1 is a T_H -interval-valued fuzzy ring of R_1 .

Hence, for all $y_1, y_2 \in R_2$ we have:

$$A_2(y_1 y_2) = \hat{\varphi}(A_1)(y_1 y_2) \geq T_H(\hat{\varphi}(A_1)(y_1), \hat{\varphi}(A_1)(y_2)) \\ = T_H(A_2(y_1), A_2(y_2))$$

Therefore, according to Definition 3.2, we have that A_2 is a T_H -interval-valued fuzzy ring of R_2 .

Theorem 4: Let R_1 and R_2 be two rings, $\varphi: R_1 \rightarrow R_2$ a homomorphism mapping and $\hat{\varphi}^{-1}$ an interval-valued fuzzy inverse transformation generated by φ . If A_2 is a T_H -interval-valued fuzzy ring of R_2 , $A_1 = \hat{\varphi}^{-1}(A_2)$, then A_1 is a T_H -interval-valued fuzzy ring of R_1 .

Proof: For any $x, y \in R$, we have:

$$A_1(x + y) = \hat{\varphi}^{-1}(A_2)(x + y) = A_2(\varphi(x + y)) = A_2(\varphi(x) + \varphi(y)) \\ \geq T_H(A_2(\varphi(x)), A_2(\varphi(y))) = T_H(\hat{\varphi}^{-1}(A_2)(x), \hat{\varphi}^{-1}(A_2)(y)) \\ = T_H(A_1(x), A_1(y))$$

$$A_1(xy) = \hat{\varphi}^{-1}(A_2)(xy) = A_2(\varphi(xy)) = A_2(\varphi(x)\varphi(y)) \geq T_H(A_2(\varphi(x)), A_2(\varphi(y))) \\ = T_H(\hat{\varphi}^{-1}(A_2)(x), \hat{\varphi}^{-1}(A_2)(y)) = T_H(A_1(x), A_1(y))$$

$$A_1(-x) = \hat{\varphi}^{-1}(A_2)(-x) = A_2(\varphi(-x)) = A_2(-\varphi(x)) \\ \geq A_2(\varphi(x)) = \hat{\varphi}^{-1}(A_2)(x) = A_1(x)$$

Therefore, according to Definition 5, we conclude that A_1 is a T_H -interval-valued fuzzy ring of R_1 .

CONCLUSION

In this paper we have studied the problem of fuzzy ring. We have proposed the notion of T_H -interval-valued fuzzy ring. And based on the notion, the corresponding homomorphism properties have been researched and some interesting results have been got. In the future we may involve in the investigation of the isomorphic properties of T_H -interval-valued fuzzy ring.

ACKNOWLEDGMENT

The research is supported by Natural Science Foundation of Gannan Normal University under grant No: 10 kyz03 and Natural Science Foundation of Jiangxi Province, under grant No: 20114BAB211021.

REFERENCES

- Biswas, R., 1994. Rosenfeld's fuzzy subgroups with interval-valued membership functions. *Fuzzy Sets Syst.*, 63: 87-90.
- Kumar, R., V.N. Dixit and N. Ajmal, 1992. On fuzzy rings. *Fuzzy Sets Syst.*, 49: 205-213.
- Li, X. and G. Wang, 2000. The s_H -interval-valued fuzzy subgroup. *Fuzzy Sets Syst.*, 112: 319-325.
- Meng, G.W., 1993. Basic theory for interval-valued fuzzy sets. *Applied Math.*, 6: 212-217.
- Sun, S.Q. and W.X. Gu, 1998.. Fuzzy algebras over interval-valued fuzzy fields. *J. Northeast Normal Univ.*, 3: 49-53.
- Wang, G. and Y. Zhou, 1997. The Homomorphism and isomorphism of TH interval valued fuzzy group. *J. Northeast Normal Univ.*, 1: 14-17.
- Zadeh, L.A., 1965. Fuzzy sets. *Inform. Control*, 8: 338-353.